3 2
2— 44—
4 + 3




?
A7t
= 25 9 kg

A=

kg



8 1
1357 =57

5 21 19 22 11

4= = 2 = =

© 43 @ 8 ® 25 @ 6-¢ ©® 5




7 1 _5
2= 42- 43—
9 7% 318




— |00

— | ©

o <




10 D=

— ™



2.

A9 drtelx] 73

A

AET AL e BEL %



8.

%% Zﬂ/‘\_}’ﬁ]—ofi 7](115_“%_/'\_i L]_]:/]_%] [LH, —E*E_Q]— _H‘,:;(]-g]

1

kel
H

ftlo
B3

[N
| =

v
G



g%d) Mol sH7kA) o] A2 35 km

o oA Zutslol 1%1{111 = 7t

g 7ho} U7

23
@ 2§3km @) 2@ km
® 4=— km ® 5— km



= w7} BT 47} 71 sl

7H B 2ok

712






3 7)o

QIuyck. vl

1311
157 12

A2

9

Qi
<+
g



A o] uteiiz?

A

o HHO
T AR 2 RE2 %



14. o5 o ool dure &4

i




15. o5 AolA mof 52 = 25 E AdY7R

@D 178 @ 270 ® 371 @ 57 ® 670



16. ol 4‘r°ﬂ/‘1 € wof & A& AR5k HshRHyY Zo] =54

SR A R A R 918 G

e
-



17.

o A 2 AL g
Ao 4 Y3 Adae

gL
AL

| ot
ool w

T o2l




olJ

=]

1

dol7t 2

18.

) ol 2 w7t guzb

A

o 41

JL
i









